Algebra 3/Trig
Trigonometry Review Sheet



1.  Convert the following to radians:  a) 135˚   
b)  420˚    c) -7200˚
2.  Convert the following to degrees:  a) 
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3.  When angle is ( is placed in standard position, its terminal side passes through the given point.  Find the values for all six trig functions.

a)  (-2, 2)

b)  (5, -12)


c)  (0, 7)

d)  (4, 5)

4.  Given the quadrant of ( and one of its six trig values, find the other five.

a)  sin ( = 
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b)  tan ( = -2, ( in quadrant II

c)  sec ( = 
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d)  cot ( = 1, sin ( < 0
5.  Fill in the blanks for the following:

a)  r = 5, s = 25(,  ( = ______, A = ______

b)  r = 25, s = 5(,  ( = ______, A = ______

c)  r = _____, s = ______ ( = 5(, A = 10(
d)  r = _____, s = 2,  ( = ______, A = 20
6.  Find each of the following:
a)  sin
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b)  cos 
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c)  sec
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d)  tan 
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e)  csc 
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f)  cot 
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g)  cos 
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h)  sin 
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i)  sin 
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j)  csc 
[image: image15.wmf]5

3

p

-


k)  cos 
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l)  sec 
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7.    Find cos (sin 
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8.  Find cos (sin (cot
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Answers:
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3.  a)  
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4.  a)  
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5.  a)  
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